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NO.16 7.50 7.3 1.0 0.95 6.9 7.3 0.6 0.65 47
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NO.15 +12.500 4.16 4.1 0.75 0.750 3.1
NO.16 7.50 7.4 0.69 0.720 5.3
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INEF 82.0 820
=511 82.0 82.0




SHET TRIJ7IIEEI # 2 t B E
(1/2)
A = gy | 18 A L A # E
BE B w 1.2 A BE Bt A 1.2 \Y
NO.15 +12.500 4.16 4.16 2.26 2.260 9.4 416 0.08 0.080 0.3
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NO.17 10.00 10.00 1.86 1.720 17.2 10.00 0.03 0.020 0.2
IEP
NO.17 +12.636 12.64 12.64 2.58 2.220 28.1 12.64 0.04 0.035 0.4
INET 103.1 20
£t 103.1 2.0
TEHE t = 20 / 1031 = 002 m




X B[R T

g =] & - T & B = i
XEfRT
=
BEh R X E R F48 - B -W=45¢cm m
B8
E42- B -W=45cm m
SHEIHR
RAVFHKXE R F#2-H-W=15cm m 40.1
B - XFEHMSETE)
W=15cmifa & m




RE#H LT iE K A OE
i {a = {al
v B E R (B ZE fiL B E R @
AR
NO.15 +12.5 ~ NO.17 +12.6 | 40.1
&5t 40. 1 m
kA 40. 1 m




I8 B y3 I - D ~ B #n = b5 E:3
ERMAEYMT
TY=—I—4 Di-thEEA 7N 50 | BRHBHERTIHEEZ LY
D3 - [ & M AR 4 PN
R/—H—LVEBTY=T—4 D4- L ehiEiA X 2.0




18 B y3 I - D ~ B = b5 E:3
BEYRIELT
H—FL—IILEE m
W) -MEEEEL avy)—b-Ess m° 7.0
AEEEL m° 0.0
FRAI7 )L
S AR YT BR t=15cmBLF m 460 | #HEMEBETIHESE LY
SEERREUEL FAI7ILEEEE - t=3cm m?’
FAI7 )L - t=5cm m? 89.4
EfANIET
PR E AL IR avy)—h-Ef m° 7.0| BEEE:7.0x2.3516.5t
A% m’ 00| BEFE.00Xx260=0t
X 0.03+89.4 X 0.05
FAI7ILE m° 45| BESE 45x2.35-10.6t




sﬂ: \ﬂ: 2l = =
BEYHEL FEYMIURLI #% E it & £
(1/2)

s wypm | 8 E | V0 —MEEMEELES | & IE BERUERL W =

izl A 172 v BB B A 172 %
NO.15 +12.500 4.16 4.2 0.07 0.070 0.3
NO.16 7.50 1.5 0.06 0.065 0.5
NO.16 +10.000 10.00 10.0 0.28 0.170 1.7
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NO.15 +12.500 4.16 4.2 4.2 0.6 0.560 2.3
NO.16 7.50 15 15 0.9 0.705 5.3
NO.16 +10.000 10.00 10.0 10.0 3.0 1.920 19.2
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